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IRCRE ] it R | MEAIE ) PN 10&iho (AAAE By AR A FHR it 2 EEE MEHRR L il i WA L il i T (Pt ESUE i
D% i (kg/h) Hif |(n2) AL | fd IR () B [ (D) B (n'N/F ) (ng-TEQ/w’N) (ng-TEQ/w’N) (ng-TEQ/g) (ng-TEQ/g) (8 L)
A kA iR T R T H5.2| 2396 24 30 96, 432 6.9 H18. 11.6 | 0.0000030 5
iy U~ s —1 leny $59.3| 3125 7.2 24 25 571, 200 1.1 H18.11.9 0.013 5| HI8.1L.9 WA A 0.00065 | HIS.11.9 TRIR 3.3 psatubil
iy U~ s —2 R T $59.3| 3125 7.2 24 25 374, 400 11.0 HI8. 11. 10 0.039 5 HI8. 11. 10 TR 14 psabubil
P OB B A v — feny HIL. 1| 893.1 12.7 7 23 174, 020 17.1 H18. 11. 21 0. 00027 5| H18.11.21 HEHK| 0.00000011

170,617 17.8 H19.2.14|  0.000069 5
R PN RAERT i T $38 100 2.25 10 23 1 1L
P B C PR leny 8.7 100 0.86 7 10 6,120 6.9 119.2.9 0.66 10[  H19.2.10 BEHIR 2.0
Gt P AR feny 118.3 70 L8 8 20 1 PRIk
ARy F4 = leny H10. 12 15 2.2 4 20 1 PRIk
iR T 2 — 1 leny $59.4| 1875 11.154 9 24 136, 000 15.4 H18. 11. 16 0.026 10| H18.11.16 BEHIR 0.013| HI8.11.16 TR 7.6 ESbis
iR T 2 — 2 P 1T $59.4| 1875 11.154 9 24 108, 000 13.2 HI8. 11.17 0.11 10 HI8. 11.17 TR 2.2 paibis
vk L 3 ERES iU Hi2.4 160 L1 2.5 1 10) HIS.12.22 AR 0.00070 | HI8.12.22 Hoth 0.033

63,900 |- 18.6  HI8.12.22 0.00072
Tk LRI R 2 — 2 EaES g H12.4 160 L1 2.5 1 10
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|0 fii (kg/h) B | (m2) A | AR (I | (/) [N/ ) ¥ M () (ng-TEQ/w’N) (ng-TEQ/w’N) (ng-TEQ/g) (ng-TEQ/g) (S L)
%L 5 —1 o)l s48.12| 937.5 5.985 9 20 HI8. 12. 14 HEHIR 0.0079| H18.12. 14 W ABEK L5
145,600 -] 13.5 H18. 12. 14 0.089 1
TR 5 —2 o)l S18.12| 937.5 5.985 9 20
TP U @RS AL L R T Rl H14.6 176 1.62 8 25 8,800 17.0 H18.6. 1 €0.04 5| HI8.6.1 €0.05
T Y= s —1 o)l 547.9| 1250 9 7 22 740 | wiN/h 13.8 HIS. 11.2 3.4 10) HIS.11.2 HEHIR 0.015) H19.1.30 | KEALY (FRIK) 3.9 pepus:d
BT Y =k i —2 o)l S47.9| 1250 9 7 22 770 | w’N/h 14.2 HIS. 11.2 L7 10
FEEE S et il o)l H1L. 10 190 1.92 9 20 16, 000 12.1 H18.6.5 0.41 10| HI8.6.5 i & 0.00011
WET A=F 4L —1 o)l n.4| 1250 9.43 8 21 64, 000 13.6]  HI8.12.19 0.013 10) HI8.10.11 BEHIR 0.19) HI8.12.13 H CAERIR 2.0
WET A=F 4 s—2 oIl H7.4| 1250 9.43 8 21 58, 400 12.2|  HI8.12.19 0.0011 10
A A BRBE RS o)l HL.3| 1081 12.5 8.5 23 68, 800 13.5  HIS.10.18 0.16 10 H18.10.18 HEHIR 0.028
B LA A 2
AFLRRRERM T A o)l H4.5 162 1.8 20 20 8,100 | n°N/5h 9.4 H19.1.16 1.6 10 H19.2.1 HEHIR 0.008
hiL AR dh T8
it/ )3 B RO I e v 5 — peedinng H10. 12 45 0.74 1 10 1 PRk
oF{ksy Lokt peeadinng H13. 11 185 2.68 7 20 7,020 | m’N/6h 3.26 HI8.11.8 0.89 5| HI8.11.8 0.12
i LSS R R L S peeding H4.9 63 0.85 3 20 1 PRk
iy Y= s —1 it S58.4| 1875 1.9 16 22 33,800 17.2 H19.1.18 0.20 10 H19.1.18 HEHIR 0.49
7 ) vy —2 it $58.4| 1875 4.9 16 22 33,200 15.5 119. 1. 31 0.10 10
L L At ikl L il HIL 6 150 1.83 6 20 30, 400 125 HIS.10.23 0.16 10| H18.10.23 2 0.00051
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(a3 (kg/n)  [Hfr | (n2) 7 |wemnsnnosilEg | (6 /0) [ty e) R () (ng-TEQ/w'N) (ng-TEQ/w'N) (ng-TEQ/g) (ng-TEQ/g) wEL)
Ay Y=y —1 LZSi S62.3| 2812 6.56 16 21 162, 400 11.6 H19.1.19 0.055 5| H19.1.19 HEHIR L1
ks ) —rkry—2 AT $62.3| 2812 6.56 16 21 182, 000 10.9 H19.1.19 0.015 5
Fhat et im e TR At H10. 1 150 1.59 9 25 14,100 11.6]  HI8.12.20 0.22 5| HI8.12.24 HEHIR 0.0029| H18.12.24 TREK|  0.000090
g e PR S S i 18. 11 550 10.43 9 25 109, 600 9.9| HI8.11.25 0.55 10) HI8.11.25 0.048| HIS.11.25 HoCa 0.70
AR S — AT $59.4 500 10 7 20 72, 080 12.7 H18. 10. 25 0.48 10| H18.10.25 HEHIR 0.032
A AR A 31 L T RS At H9. 5 95 1.94 1 22 22,980 9.8  HIS.11.24 2.3 10| H18.11.24 &1 0| ms.11.24 [EUNY 0.073
OV TEKAAH At H5. 2 145 1.45 9 23 760 | n°N/h 18.9 H19.4.23 0.16 10) 119.4.23 &1 <0.05
WEAZ Y-y s —1 AT S57.3| 1350 11.97 8 22 97,500 15.1 H19.2.28 |  0.000079 10) H19.2.28 HEHIK 0.00011|  H19.3.7 IR 16 psatubil
HEH7 Y-k s —2 AT S57.3| 1350 11.97 8 22 120, 000 14.9 119. 2. 28 0. 0052 10
AT L BT ke AT H8. 4 50 1.326 1 PRk
PR N =TT ReT-E U H3.5 180 1.95 8 2 1 ik
AR Lokt MOLEN | H5.12 193 2.6 8 23 18, 000 15.2 H19.4.5 0.7 0] H19.4.5 0
;Siégé%l%ﬂkﬁ‘ﬁﬁﬁﬁ% moBENT | S55.2 50 0.74 1 ik
;Siégégﬁﬂkfﬁﬁﬁ% OB EN | HS. 11 195 1.61 1 PRk
E R — A BE R BERIA Mo b W H4. 4 160 2.8 3 4 1 PRikp
TREFAT U ASRILELY v 5 — T EFAT H3.10| 1875 4.15 8 19.5 131, 200 16.4 H18.11.8 5.6 10 HI8.11.18 SRBER 2.7
RN T L 5 B L T EFAT H. 4 50 1.92 1 PRIk
T EFAT PR A AR REPR HL. 4 30 1 1 PRik
0 P S L e REPR H6.1| 28.2 0.9409 1 PRik
8 EF AT S B LN EEFAT 7.9 30 1 1 PRk
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(a3 (kg/n)  [Hfr | (n2) 7 |wemnsnnosilEg | (6 /0) [ty e) R () (ng-TEQ/w’N) (ng-TEQ/w'N) (ng-TEQ/g) (ng-TEQ/g) wEL)
ST LAy MLE 55T HIL3 143 L7 8 23 5,700 | n’N/h 16.1 118.6.6 0.21 10)  HI8.6.6 HEHIR 0.0032| HI8.6.6 SRBER 0.0043
Bty —1 A7 )17 HIL3| 2081 12.24 21 25 595, 200 11.6 H18.9.28 0.058 1| HI8.9.28 HEHIR 0.0025| HI8.9.28 IR 0.61
sy —2 A7 )17 HI12.3| 2081 12.24 21 25 592, 800 11.6 H19.2. 20 0.012 1| H19.2.20 HEHIR 0.077|  H19.2.20 i3 0.19
T U ek i T A7 Iy H12.4 176 L3 9 25 1,900 | w’N/h 14.4 H19. 4. 25 0.07 5| H19.4.25 €0.05
A ALK F A 2 Y — o — A M) IAT H10. 11 110 9 8 20 60, 075 13.6 H18.9. 19 0.025 5| H18.9.19 HEHIR 0.00041| H18.9.19 [EUNY 0.29
et RN A )17 Hi2.5 190 1.87 9 20 2,300 | n’N/h 18 H19. 3. 22 1.4 5| H19.3.22 HEHIR 0.41
A2 Y — i A7 AT 7.7 195 0.76 9 21.5 1 Rk
SH TR Rl H12.7 176 1.65 8 8 8,920 | m’N/5h 7.21 H19. 2. 27 0.11 5| H19.2.27 IR A% 0
HY SR G A7 JImy H17.9 100 0.20 9 25 1 PRk
R o 2 — 1 i H10. 4 3063 7.2 24 25 343, 200 12.6 H18.7.27 0.079 1 H18.7.27 TR 0.72
R A — 2 i H10. 4 3063 7.2 24 25 410, 400 12.4 H18.7. 27 0.16 1
AWBHAAT 2L ZT A i 116. 10 180 1.8 10 25 48,100 19.7 119. 4.2 0.83 5
T+ J L= ATV ZBA R L 2 — 2 FImmy H10.2 180 1.62 7 8 1 PRk
A7 P I S 0 R 2 L HElmr |H17. 12 189 4.02 24 30 36, 000 6.1 H18. 12. 21 0.12 5| HI8.12.21 HEHIK| 0. 00000030
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2E4:3 (kg/h) 7 [(m2) 7| fo AR (O ) B | (/) H(n'N/F) ¥ M () (ng-TEQ/w’N) (ng-TEQ/u’N) (ng-TEQ/g) (ng-TEQ/g) (e L)
Tp ST 2 HBEEN FrTp oMy S17.6| 2500 18.39 7 25 105, 202 11.0 H18. 12. 15 0.031 5| H18.12.15 HEHIR 0.0085| H18.12.15 TRIK 2.4

HI8. 12. 15 RARE A 1.8 HI8.12.15 AR 0.19
A 2 SR Fptp <y H15.3 100 2.65 12 22 7,216 | n°N/8h 6.49|  HI8.10.13 0.014 5| H18.10.13 0.24
AR HREAEERR sl Uy HI1. 5 176 1.65 8 8 1 1L
JF e TR AR 2 T FpTp oMy HI2.5| 31.07 2.27 8 20 5,460 | n°N/3h 5.8 H18.11.6 0.018 5 HI8.1L7 0.038) HI18.11.7 SRBER 0.21
AT BRBRALA TR T8 liibulicy H15.3 183 1.92 8 20 8,800 | n°N/4h 9.1 119.3.2 <0.001 5| H19.3.3 HEHIR <0.05)  H19.3.3 [EUNY <0.05
Kb Rttt liEpu L S61.7 20 3.15 4 25 1 PRIk
Tk TR A liibulicy HL.7 180 4.15 7 22 1 ik
DT AL 1 i H8.3| 3125 1171 16 25 45,600 | n°N/h 17.2 H18.9. 14 0.39 5| H18.9.14 HEHIR 0.000064| H18.9. 14 IR 0.69
D T A 2 i H8.3| 3125 1171 16 25 48,500 | m°N/h 17.5 H18.9. 14 0.64 5
PR T JE S A B AL 6 i H7.4| 780 8 7 22 176, 000 16.6 H18.6.21 0.043 10) H18.6.21 HEHIR 0.0030 | HI8.6.21 IR 0.13

H18.6.21 IR 0.0088

RFCE SRR P i H9. 10 60 2.01 8 10 1 PRik
Q%%g%izﬁﬁgﬁgg%m i HIL9| 11.68 L.24 2 8 920 9.6 H19.2.2 9.3 10 H19.2.2 HEHIR 0.058
st T a2 —T 107 liifunis H10. 12 197 1.99 6 10 2,600 | n’N/h 13.3 H19. 3. 30 5.7 10) H19.3.30 0.0019| H19.3.30 Hoth 0.0059
T TEA RS kL HI4.12| 185.4 3.06 8 25 48,000 16.4 H19.2. 28 0.10 5| H19.3.1 HEHIR <0.05)  H19.3.1 Hota 0.21
EAHR RS AL [itbul H16.9 146 1.95 8 15 15,000 19.3 H19.3.1 0.063 5| H19.3.1 HEHIR <0.05)  H19.3.1 Hoth <0.05
RS i H18.10| 194.5 1.98 9 25 10, 640 9.6 H19. 5. 10 3.1 5| H19.3.30 AR 0.0010 | H19.3.30 R 0.093
T AT Ak I T 45 i H7.9 173 1.2 9 22 36, 240 12.7 H19.2.23 0.0059 10) H19.2.23 AR 0.0000039
SRR R JLEL HIL3 171 1.8 8 23 15,000 16.3 H19.2.2 0.11 100 HI9.2.2 0.0000070 H19.2.2 K| 0.00055
T a A TG i H18. 1 189 4.02 24 30 627 | n°N/h 8.5 H19.3.6 0.12 5| H19.3.6 HEHK|  0.0000012|  H19.3.6 K| 0.00043
[R5 — 1 [EE=UY H6.7| 1719 3.84 16 25 22,900 | n°N/h 16.8 H18.9.29 0.39 10) H18.9.29 HEHIK 0.0042| 118.9.29 b3 1.3
iR 5 — 2 [EF=0Y H6.7| 1719 3.84 16 25 24,300 | n°N/h 17.4 H18.9.29 0.30 10 H18.9.29 K 1.2
AR LA AR R [EFIN H15. 10 146 1.95 7 15 8,400 20.4 119.3.8 €0.07 5| H19.3.8 IR 2% €0.05|  H19.3.8 IR €0.05
| AR AL S LR 3% [EE=UY HIS. 1| 896.1 3.5 6 20 67, 900 16.6 H18.9.27 0.0028 5| H18.9.27 HEHIK 0.040
FIHELN = 250885 1 [EF=0Y H2.7| 750 1.92 8 25 7,380 | w°N/h 13.2 H19.1.16 0.98 100 H19.1.17 HEHIK 0.0027| H19.1.16 IR 11 pstubil
FIHEN = 2045 2 [ iRAT H2.7| 750 1.92 8 25 7,400 | n’N/h 14.3 H19.1.19 L3 10 ST
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RG] ot WA | MEAE ) PN 10&fho [AMAEE Bk AR PEiA 2o |RHRIRE A 2 EEE MEHRR L il [ BRI A L il i T (Pt ES T
|0 fii (kg/h) A | (n2) A | AR (I | (/) [N/ ) ¥ M () (ng-TEQ/w’N) (ng-TEQ/w’N) (ng-TEQ/g) (ng-TEQ/g) (g7 L)
et b Ak & — [EF=0Y HI7.5 193 1.23 8 22 15,600 | m’N/h 15.5 119.3.9 <0.008 5| H19.3.10 HEHIR <0.05| H19.3.10 [EUNY <€0.05
bk R R R I . - ;
by ) s e 1 15 S62.12| 1375 9.81 8.5 21 93, 500 14.2 H18.7.19 0.041 10) HI8.7.19 HEHIR 0.0023| HIS8.7.19 HoLA 1.0 JEALE
bk R R R A I - ;
by ) e g 15 S62.12| 1375 9.81 8.5 21 93, 500 10.7 H18.7.19 0.027 10 H18.7.19 Hoth 1.3 JEAILEE

MO TR S L mar H10.2 200 3.8 9 20 1 Rk
P AR R LA 25T Ly $58. 10 30 9.5 9 15 1 PRIk
o P 5 i PR R A T L mny H17.9 120 142 3 1 12,336 9.3 H18. 11. 16 0.36 5| H18.11.16 BEHIK|  0.00000027
et ik THE L& mar H13.6 190 5.7 8 22 27,300 | n®N/7h 15.9 119.3.6 0.011 5| H19.3.6 HEHIR <0.05)  H19.3.6 [EUNY <0.05
b8 T i RS AR RS Ly 9.6 195 1.68 9 25 6,230 | w’N/h 15.0 H19.2.16 5.2 10[  H19.2.16 HEHIR 0.0050 | H19.2.16 HRIEIR 2.4
AT LA LEmIr | HI5. 10 146 1.95 7 15 2,400 | n’N/h 16.0 H19.3.7 <0.008 5| H19.3.7 HEHIR €0.05| H19.3.7 Ho LA <0.05
S & R A BEEIY 1 5 & Ay S62.4| 937.5 8.01 8 25

9,240 frormremenmei 18.6 HI8. 12.18 6.1 10] H18. 12. 18 HEHIR 0.019) HI8.12.18 b3 2.6
& R AR 2 5 & Ay S62.4| 937.5 8.01 8 25
KigfEE v 5 — 5 & Ay S57.4| 605 1.9 6 22 3,520 | n’N/h 18.0 H18. 12.19 0.0011 10) HI8.12.19 HEHIR 0.000018 | HI8.12.19 RPE|  0.00036
RS B ARG EETaUl H7.2 185 11.84 10 22 28,000 | m°N/8h 17.2 HI8. 11.7 0.23 10| HIS. 1.7 HEHIK €0.05
S0 IchEne 5 & Ay 19.5 60 1.37 7 22 1 ik
G A SRS 5 & AT HI2.7| 39.94 2.78 8 20 12,300 | n°N/6h 8.4 HI8. 11.7 3.7 5| HI8.1L8 1% €0.014| HI8.IL8 SRBER 0.13
kA A e
§§$§; aRBREITE S 5 & AT H6. 10 60 L1 3 1 16, 680 11.47|  HIS.11.15| 0.0000065 10) HI8.11.15 HEHIK|  0.00000022
R
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Rl A A RS

BAAD S PR R

RG] HEHIFE ) S S AR i il i ES T
|0 fii (kg/h) ] (n’N/H ) (ng-TEQ/g)
HEtiz -k y—1 1531 14, 400 123 HIS.1L.15 BEHIK 0.0020
HEtiz Y-k y—2 1531 15, 100 1.5 HIS.11.16 BEHIK 0.0020
PR A
R AL 601 6,390 13.9 H18.7.18 1 BEHIK
(P )
R AR (LA (S 166 PRk
BT TP SEPESE AL ERS 176 12,160 8.4 H18.5. 17 HERIK 0.40
N TR bk 176 20, 800 0.9 H18. 5. 31 BEHIR 0. 086
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RG] ot WA | MEAE ) PN 10&fho [AMAEE Bk AR AR A 2 EEE MEHRR oo LS MEHRR oo i T (Pt ES T i
|0 fii (kg/h) (m2) Al [ L TEEES) XY eA (SR {7 N/ ) (ng-TEQ/w’N) (ng-TEQ/w’N) (ng-TEQ/g) (ng-TEQ/g) (g7 L)
IERFHIT 2 Y ks —1 I 5 HIT H3. 1| 1562.5 3.63 9 25

52,350 14.5 119.3.8 0.18 100 HI9.3.8 BEHIK 0.15
ARSI 2 Y — ks —2 I 5T H3. 1| 1562.5 3.63 9 25
Kitiat T B N7 H7.1| 158.5 5.1 7 22 65,870 16.8 H18. 6. 14 0. 060 10[  HI18.6.14 HEHIR 0. 000058
AR B TMT N () 1] Fp s FEREHNT | S51. 10 50 1.23 1 Rk
FRE T T LR R AR BT H7.9 50 1.03 1 NI
AE R LA ke AVEREHET | S53.1 50 1.43 1 PRk
AREREAT L)1/ AVEREIEET | S44.6 50 2.33 1 PRk
AR I LR 1 A BT H5.5 49 0.72 1 PRk
AR LN 2 A BT H5.5 49 0.78 1 PRIk
AR BT S =) AR AR ity $56. 1 50 1.32 1 NI
iR T v 1 AR ity $60 50 2.16 1 NI
R T L 2 AR sty $60 50 1.44 1 Rk
ST R R PERFFE T i SR 1 TSR0 | H6. 10 50 1.28 1 PRk
ST R AR BERFFERT I E s 2 AR I H5. 1 50 1.28 1 Rk
RS AR T VI AEREIHAT | H14. 11 96.5 1.9 7 30 1 {1k
BN Ie S el $52. 4 50 L5 1 PRk
ElaliESgeey BTy H8. 4 49 0.77 1 PRik
fg:;g%gg@%ﬁg%gﬁm HRARRT H2. 4| 329.4 5.1 7 21 3,242 | nN/h 14.3 H18.8.4 0.14 10)  HIS.8.4 WA 0.00000028
a
@i%g%%\?ﬁi@ﬁagmua HRARRT HI17.12| 1875 12.038 11 23 248, 800 17.5 H19. 2. 22 0.034 5| H19.2.19 HEHIK 0.00046 | H19.2.19 b3 0.39
@i%g%%\&gﬁ@ﬁagmﬁa HRARRT HI17.12| 1875 12.038 11 23 239, 200 17.2 H19.2.23 0.029 5
fﬁfi‘mg;iﬁﬁa L Bl H8.3| 143.8 1.95 8 2 3,520 | n®N/5h 9.3 H18.8.4 0.089 10| HI8.8.4 HEHIR 0.00060
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